NN ?\fi‘g—i;}‘ikr};l sz
(- TP KRR Y 51 A2

1064 B R Y ok EL5,1562 ¢ > H Y g ¢ B 23722
T} A #46.00% 5 B 5 o FHFT 1,495 7} 44 #29.00% 2 0 & =
5ATHRATI0N € ) 8 #c14.16% o (44821~ £0)

’

g]l? - F ié“;};%ﬁ 7}\3:%\54 %l%l ﬁi—#&,ﬁﬁ;‘;

%, F106# &
2,400
1,800 |
1,200 |
600 |
0
3t
7‘1L

(COBBHEHE P AR m

NEL106F & fpig ik g P oRER07,599 2 = o B it g
# 55,664 = &} @ #57.03% 5 B ¥ 0 3 F 515,263 % b Bk
15.64%= 2 » % = 3 #7#9 10,246 2 & } %#c10.50% o (4r# 82 1 -

+9)
F118 ~ Wi -k Hid Ak g KR
a 3, ®106# &
56,000
42,000
28,000
14,000
0

SRR LI S S S S O R S L g3
L R 2 T T - S - S -« S -« S -« S T

19



(Z) RBP4

@106& B OBEiS oK s 8 289,573 2 € :r.iv’ PERE
21,8132 ¢ [ 4z 24.35%% § o Z +h2:14,9402 ¢ ¢ 4, #:16.68%
20§z ‘%Jff;xmlOQOS’\’” 4 2. 12.18% o (%%8 N

=X Z_

OICINEEE S SRR S g

N 3 F106 & B

24,000

18,000

12,000

6,000 |

0 ||

;T*q.ﬁ}\bi:?;_% _’_ﬁ"é’fe\}'}@ —?%&iﬁ’f%%%f
AE Yo R AELLED SR
F OB OB OB OB OELELELELELELEL BB BL G B

(2 )% & ]\‘:‘;f}ijﬁ;j_gi

EN W].OG—& B J}ﬁ 3 Bk ;,&;J_27 11228 > H @ l!,f-g,,%
””4532’\ A ~16 T2%3% % o B A 5:3,8142 ¢ b 4 #c14.07%
$2 54 %9379 ¢} #l14.00% - (oA 821 £9)

,;\ ’
BI20 ~ BiS -k S8 R BB 1 fe KR
e o F1065 &
4,800
3,600
2,400
1,200

Bt b A T g e 2 LB L TH 4
SN IR N L
I NN R



(3 )‘épié%#bkﬁﬁi'}?fl A2

2R L106E B T8 EOK £ g %1 128,696 = = > H ¢ 1 [F] T
542,202 2 ¢ } 4 #c 2 48.04%% 5 > 4> P EL126,145 2 & | 4
11.18%= 2 > a:g L4 %7 116,735 & [ iz 10 34% o (4% 82

1-~%9)
B2l ~ B -kevka 72— KR

560,000 p
%z
g
420,000 g
Z
280,000 g
é
é
140,000 g
Z Z
Z Z
g é
0 L % 2
At o ow §i e 2 K4 B ATATE &
A s F R HAELES A SR
PO OB RN BB BB R BR G  OB

(= )?v B PR K O R A
NRL06E Fd gk e L AF R RORRAT, 141 R o H Py
FB 1H‘ﬂ‘/l 7,935 A ‘:'; l&g;t\ 1683%& y }'—” “;‘\mg6 017 Nz [. %’,&

12.76%=% 2. » % = 5 &4 7 5,730 ® } A #c2 12.16% o (4o 82

FI22 ~ 3 4 3k % A
% 106 &

2+ £9)

PR B

4,000

2,000

FATE g e 2R AL AL
RSIEIREIE NS | SN G 2 g
B

e %z%x%%z%z%z%&%&gﬁzﬂ o

21



